Quiz 2 -
Math 111 |

Name: é&l | J"‘t:w
d

Show all your work algebraically for each and simplify. No credit is given without supporting
work.
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1. & Let the following describe the function a:
Cragints o Curchuey, 213

input: *+ A
output: -4
Find the following if possible:
a(*) + a(A) alx+ A)
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2. m Given g(z) = | — 2z — 6/, find % such that g(;é) 3% — 5. Check your answers!
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3. [5] Given that .5 %{ﬁ{* Yoty m N % é@,@\‘;@j{\ %‘f.’}g/ 1‘
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Graph f.
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4. [Y] Find the difference quotient of g if g(z) = 2. Simplify your answer as much as
ssible. Recall the diff otient of a function f is: , g
possible. Reca. ifference quotient of a function f i A\&a . 0 el s

fa+h) - (@) I
h

# . P »;ﬁ%m » % 3
%%{;@ Wiy ) - 50x) - H.;: X Léng) Ly

14

" e X0

Coctid B8 @
QY‘%! &L

W,rw%n«sﬁ‘

£
?
&

%*““‘
y

o
k}

ISR ) 2

wigswn) W LR ’Vz}

A kY
wf § ot WY
(“c’«;? K,,?;‘ ﬂ}

D swrled s o

2




